IR X RS o

OO X XX XXX 8
KK X
LA
Sescoeeoas sont I
o) Y o §
R R R R R R REY X X e
: v ATy Ty @ @ S NS @ b

.
]

#1100
= Ao

-




RO B

1 ZARNOIEEEZERL, -0
S CDBD=AREADEZRDHSN
A:il:?&‘/)é‘a“

21‘“-‘: NI\ FEOD _Véﬂ @:FL/
%

':-‘LEE Q@S@Zﬁ’(é‘é&:jl_

N

://coefont.studio



NDiATER

sin(ae + f) =sinacosf +cosasinfS [E|\fZ
sin(ed — ) =sinacosfS —cosasinfS —J.A-

cos(ax + ) = cosacosff —sinasinf
cos(a — ) = cosacosfS + sinasinf 3\@[%(/\7'0%(/\7'
tana + tan 5

l—tanatanpf
tana — tan

l+tanatanf

tan(a + B) =

tan(a — B) =
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£(POQ =a,£A0P =3, £A0Q =a + f
sin(a + B) = BQ,cos(a + ) = OB --
CQ = sina, OC = cosa -+ (2)
EQ = CQcos B=sina cosf - (3)
CE = CQsinp = sinasinp --- 4)
CF = OCsin8 = cosasinf -+ (5)
OF = OCcos 3 = cosa cosf3 -+ (6)
BQ=EQ+BE=EQ+ CF &k
sin(a + ) = sina cos 8 + cos a sin 8
b > x OB = OF — BF = OF — CE
O B F AL, 0) cos(a + ) = cosa cos B — sina sin 8

o - (1)




MAEROGIRETEE

sin(a + ) = sina cos 8 + cos a sin 8
cos(a + f) = cosa cosfS —sina sinf8
sin(a + )
cos(a + )
sina cosff + cosasinf

tan(a + B) =

~ cosacosfB —sinasinf
sina cosff + cosasinf
cosa cos 5

cosa cosf —sinasinf
cosa cos 5

sin a CosLf. \osasmﬁ

_ cos a Cosf3 Eosqcos I

__sina sinf
cosa cosf

tana + tan
1 —tanatanf




MAEROGIRETEE

sin(a + ) = sina cos 8 + cosa sin 8
cos(a + f) = cosa cosfS —sina sinf8
tana + tan

1 —tanatanf
sin(—f) = —sinf cos(—f) =cosf tan(—f) = —tanp

sin(ed — B) = sinacosf8 — cosasinf
cos(a¢ — f) = cosa cosf + sina sin 8
tana — tan

1+ tanatanf

tan(a + B) =

tan(a — B) =
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sin(a + B) = sina cos B + cos a sin 8
sin(e — ) = sina cosf — cosa sin 8
cos(ax + ) = cosacosff —sinasinf
cos(ae — ) = cosa cosf + sinasinf
tana + tan 8

l—tanatanpf
tana —tan 3

l+tanatanf

tan(a + B) =

tan(a — ) =
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BIZE1 sin—, cos—, tan— DEERDFTLLD
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T (n n) T T T T
smlz—sm 1 —51r13C054 C05351n4
\/_ */__1 V2 V6 -2
2 2 2 2 4
T (n n)_ T n+_n_n_\/§+\/g
coslz—cos 377 —c053cos4 51n351n4— 2
T V6—v2 6—2V12+2
tan— = =2—\/§

12~ V2 +6 4



2fEAOLN
sin(a + ) = sina cos B + cosa sin 8

cos(a + f) = cosa cosfS —sina sinf8
tana + tan

1 —tanatanf
a=0=0 &£IBDE

sin 260 = sinB cos @ + cos O sinf = 2sin 6 cos b

tan(a + B) =

cos 260 = cosB cosO —sinfBsinf = cos? O — sin? 6
sin? @ + cos? 60 =1 AN (=1—25in29 =2C0529—1)

tang — tanfd + tan 6 B 2tan @
an 1—tanftanf 1 —tan2é




